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Topic Information Examples Sparx Clip
Term-to- M763, M106,
The term-to-t le f tell Hoos M381,
term rules e term-to-term rule for a sequence tells us M241
how we get from one term to the next. mretTerm | Termeteferm e | Treizeme
Position- | We can work out any number of terms of an Generate the first 5 terms of the sequence 5n - 7. 'fa;g; %‘21;
to-term | arithmetic sequence by substituting values into }’ghf?)”_z;; 5 M166. M99,
rules the n*" term. When n = 2, M866
(5x2)-7=10-7=3 Whenn=3,(5x3)-7=
This is known as the position-to-term rule as you \1/\?h_ 7= 84 S ) 72907213 Wh
o . oy o = X - = - = =
can calculate the term, given its position in the |y o' " =% ©*4) enn
sequence. (5x5)-7=25-7=18
The first 5 terms of the sequence 5n - 7 are -2, 3,
8, 13, and 18.
: ; ; M698, M939,
Ratio Ratio compares the size of one part to another 3 :1 M235. M8gS.
part. M543, M267,
I WaO1, H525
Written using the : symbol.
. . 1
Scale A scale drawing is an enlargement of an object. | A Plan of a block of flats has the oo oo
di ) i scale 2.5cm:800m. What is the real distance ’
1agrams | An enlargement changes the size of an object by | represented by 5.7cm on the plan?
multiplying each of the lengths by a scale g;‘(’)‘dgnél ':Oégj‘des by 2.5, we get 1cm:320m
x5.7=
factor to make it larger or smaller. 1 824m
The scale of a drawing is usually stated as
a ratio.




